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0~14% [15~64] 65 LI E =t O0~14% [15~64E[ 65 LI E =t
] 10,673 50,316 22,845 83,834 ] 2,858 12,750 6,473 22,081
£ 10,260 51,351 31,021 92,632 = 2,755 13,845 9,356 25,956
&t 20,933] 101,667 53,866] 176,466 B 5613 26,595 15,829 48,037
R 11.9% 57.6% 30.5% 100.0% R 11.7% 55.4% 33.0% 100.0%
HEADOIEHK 73.6 EEAOE 80.6
EINEEE 20.6 R ONE S 21.1
ZEANOEH 53.0 ZEAORE 59.5
[ZEILIER 257.3 [ZEFIETE 282.0
EF 81,150 = 22,613
REits Hh s SRR Hhig
O0~14% |15~64%%| 658 LLE Hi O0~14% |15~64%%| 658 LLE &t
E:] 1,374 6,829 3,708 11,911 3] 2,189 9,733 4,492 16,414
£ 1,310 7,126 4,923 13,359 = 2,020 9,708 6,120 17,848
g 2,684 13,955 8,631 25,270 B 4,209 19,441 10,612 34,262
R 10.6% 55.2% 34.2% 100.0% ¥R 12.3% 56.7% 31.0% 100.0%
EEAOEE 81.1 EEAOER 76.2
EINSECE 19.2 Y YNSECE 21.7
E-DNNE T 61.8 ZEAOEH 54.6
ZELIER 321.6 ZELIER 252.1
= 11,304 iy 28 15,542
X fia i 2 FEiBith i
O0~14% |15~64%% 65mLLE &t O0~14m% |15~64%%| 65 LLE it
E: 2,614 13,500 5,090 21,204 ] 1,638 7,504 3,082 12,224
E=S 2,642 13,133 6,639 22,414 = 1,533 7,539 3,983 13,055
it 5,256 26,633 11,729 43,618 it 3,171 15,043 7,065 25,279
R 12.1% 61.1% 26.9% 100.0% R 12.5% 59.5% 27.9% 100.0%
EEAOES 63.8 EEAOES 68.0
EINSEE 19.7 FOANOER 21.1
EZEANOEHR 44.0 EEANOEHR 47.0
[ZEEER 223.2 [EZ2EiEE 222.8
T 20,609 1H 11,082
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15~64% -£EFHAO (B)
65mLl L - EEADO (C)

EEAOEH=A+C)+-BXx100
FHoAOEH=A+-Bx100
ZEAOEH=C+-Bx100
ZEILEH =C+Ax100
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